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PE SO 1:
Logical Thinking/ Tw duy logic

Q1.
Today is Wednesday. Which day of the week will 345 days later be?

Hom nay la thit Tuw. Héi 345 ngay sau sé 1a thiz mdy trong tuan?

Q2.

Leon’s mother’s age this year adds 7, then is divided by 5, minuses 3 and is
multiplied by 8. The result will be 16 years old. How old is Leon’s mother this year?
Ndam nay tudi ciia me Leon céng 7, sau dé chia cho 5, trir 3 va nhan véi 8. Két qud
sé 1a 16 tusi. Me ciia Leon nam nay bao nhiéu tuéi?

Qs.

It requires 12 minutes to cut a piece of wood into 7 sections. If the time required to
cut into each section is the same, how many minute(s) is / are required to cut into 5
sections? (You cannot stack the wood and cut them together.)

Can 12 phiit dé cat mét mleng gé thanh 7 phan. Néu thoi gian can thiét dé cat thanh
terng phan I nhuw nhau, thi can bao nhiéu phiit dé cat thanh 5 phan? (Ban khdng thé
Xép gé va cat ching lai véi nhau.)

Q4.
According to the pattern shown below, what is the number in the blank?
Theo mdu hinh dudi ddy, sé ndo dién vao ché trang?

3. 5. 9. 15, 23, 33, 45, .

Q5.
There are a total of 24 chickens and rabbits in a farm. The animals have a total of 78
legs. How many chicken(s) is / are there?

Trong mét trang trgi c6 téng cong 24 con ga va thé. Cdc lodi déng vt c6 tong céng
78 chan. Co bao nhiéu con ga?
Q6.
In year 2022, how many month(s) is / are there with dated 30'"?
Trong nam 2022, c6 bao nhiéu thang co ngay 30?
Arithmetic/ S6 hoc

Q7.
Find the value of 32 +11 + 44 + 11 + 32 + 11 + 13 +11.

Tim gi tri ciia 32 +11 + 44 = 11 + 32 = 11 + 13 +11.
Q8.
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Find the value of 22 + 25 + 28 + 31 + 34 + 37 + 40 + 43.

Timgiatricua 22 + 25+ 28 + 31 + 34 + 37 + 40 + 43.

Qo.

Find the value of 15 x 72 + 90 x 12 + 180 x 7.

Timgidtricual5x 72+ 90 x 12 + 180 x 7.

Q10.

Find the value of 154 x 195.

Tim gié tri cua 154 x 195.

Q11.

Find the value 0f 114 + 9+ 115+9 -4+ 9.

Timgiatriciuall4+9+115+9-4+9.

Q12.

Find the value of 19 + 23 + 27 + ... + 99 + 103 + 107.

Timgiatricual9+ 23+ 27+ ... +99 + 103 + 107.
Number Theory/ Ly thuyét sb

Q13.

The sum of positive numbers A and B is 272. A is 7 times of B. Find the value of A.
Tong hai sé dwong A va B la 272. A gap 7 lan B. Tim gia trj cia A.
Q14.
Find the unit digit of A if
Tim chi s6 tdn ciing cia A néu
A =3x3x..x3x4x4x..x4

2022's 2022's

Q15.

If a 9-digit number 20228A464 is divisible by 9, find the maximum value of A.
Néu so c6 9 chiz s6 20228A464 chia hét cho 9, tim gia tri Ién nhdt cua A.

Q16.

Define the operation symbol a®b = (axb—b)—3, find the value of (6&®4)®2.
Dinh nghia phép toan a®b = (axb—b)—3, tim gia tri cua (6®4) ® 2.

Q17.

The product of A and B is 208. A is 13 times of B. Find the value of A.

Tich cua A va B 14 208. A gdp 13 lan B. Tim gia tri cua A.

Q18.
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The sum of 10 consecutive numbers is 165. Find the value of the largest number.
Tong cua 10 so lién tiép 1a 165. Tim gid tri cia o lén nhat.
Geometry/Hinh hoc

Q19.

The area of a rectangle is 120 cm? . If the sides of the rectangle are integers, how
many different value(s) of the perimeter of this rectangle is / are there?

Di¢n tich hinh ché nhdt 14 120 cm? . Néu cac canh cia hinh chiz nhdt 1a sé nguyén
thi c6 bao nhiéu gia tri khac nhau cua chu vi hinh chiz nhat nay?

Q20.

How many rectangle(s) not containing is / are there in the figure below?

C6 bao nhiéu hinh chiz nhdt khdng chira ddu “*” trong hinh dwéi day?

[IX 32

Q21.

It is known as the lengths of legs for a right-angled triangle are 18cm and 24cm
respectively. Find the length of the hypotenuse.

Biét dg dai cAc canh cua tam gidc vudng lan heot la 18 cm va 24 cm. Tim d¢ dai cua
canh huyen

Q22.

25 small squares whose perimeters are 16cm form a larger square. What is the
perimeter of the larger square?

25 hinh vuéng nho ¢o6 chu vi la 16cm tao thanh mét hinh vudng Ion. Chu vi cua
hinh vuodng l6n hon la gi?

Q23.

One unit square is one square face of a small cube. At least how many unit square(s)
can be seen if viewing the figure below from the front?

Mgt hinh vuéng don vi 1a mgt mt vudng cuia hinh ldp phurong nho. C6 thé nhin thay
it nhat bao nhiéu 6 vuéng don vi néu nhin hinh bén dwdi tir phia truéc?
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Q24.

A pyramid has 157 vertices, how many edge(s) does this pyramid have?

Mot hinh chop co 157 dinh, hai hinh chép nay cé bao nhiéu canh?
Combinatorics/ Té hop

Q25.

It is given that the total weight of 3 apples and 3 oranges is 900g. The weight of an
apple is the same as that of 5 oranges. What is the weight of 1 apple?

Biét khoi lwong téng céng cia 3 qud tao va 3 qud cam 1a 900g. Trong lwong cua 1
qud tao bang 5 qud cam. Trong heong cua 1 qud tao 1a bao nhiéu?

Q26.

177 water bottles are either in box A, B, C, D or E. Every box contains at least one
water bottle. In the box containing most water bottles, at least how many water
bottle(s) is / are in the box?

C6 177 chai nwée dwoe dung trong hép A, B, C, D hodc E. Mai hdp ¢6 it nhdt mét
chai nwéc. Trong hép chiza nhiéu chai nudc nhdt, trong hép c6 it nhat bao nhiéu
chai nuwoc?

Q27.

How many 3-digit odd number(s) is / are there such that the number does not contain
digit, “4”, “7”or “9?

C6 bao nhiéu sé lé c6 3 chir s6 ma trong sé dé khéng chira chit s6 “4”, “7” hodc
“9?

Q28.

A flight of stairs has 9 steps. Andy can go up for 1 step or 2 steps each time. The 4th
step cannot be stepped on as it is destroyed. How many way(s) is / are there for Andy
to go up the stairs?

Cau thang bg ¢6 9 bdc. Andy c6 thé di 1én 1 bdc hoac 2 bac moi lan. Budc thi 4
khong thé buoc 1én vi nd bi phé huy. Co bao nhiéu cach dé Andy di lén cau thang?

Q29.
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A restaurant offers 5 types of drinks and 3 types of snacks. If a set contains 3
different drinks and 2 different snacks, how many different type(s) of sets does this
restaurant have?

Mgt nha hang cung cdp 5 logi do udng va 3 loai do an nhe. Néu mét phan c6 3 logi
d6 uéng khdc nhau va 2 mén an nhe khac nhau, thi nha hang nay c6 bao nhiéu logi
phan khac nhau?

Q30.

Class 4C has 30 students. Each student has to exchange presents with each of their
classmates. How many exchange(s) is / are there?

Lép 4C c6 30 hoc sinh. Mdi hoc sinh phdi trao d@éi qua véi ting ban cing 16p. Co
bao nhiéu cdch doi qua?
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DE SO 2:

Q1.

Amy gets 58 marks in Chinese exam and she gets 85 in English exam. If she has an
average of 74 marks on Chinese, English and Mathematics exam, how many marks
does she get in Mathematics exam?

Amy dwoc 58 diém trong bai kiém tra tiéng Trung va 85 diém trong bai kiém tra
tiéng Anh. Biét sé diém trung binh cua bai kiém tra tiéng Trung, tiéng Anh va Toan
cua cO ay 1a 74. Héi ¢ dy dwoce bao nhiéu diém trong bai kiém tra Toan?

A. 79 B. 89 C.72 D. 82

Q2.

Now, the sum of father’s and mother’s ages is 93. If the age of father 3 years ago
was the same as the age of mother 8 years later, how old is father now?

Hién tai, tong tusi bo va me 1a 93 tusi. Tudi cua bo 3 ndm trueéc bang tusi cia me 8
nam nira. Hoi bay gio bo bao nhiéu tuoi?

A. 41 B. 50 C.52 D. 49

Q3.

A stationery store had a batch of pencils. One half of the batch were sold on the first

day. One half of the remaining part were sold on the second day. Finally, 20 pencils
are left. How many pencil(s) did the stationery store have originally?

Mot cira hang van phong pham c6 mét sé buit chi. Ngdy ddu nguoi ta ban droCt mot
nua so bat. Ngay thit hai, nguweoi ta ban dgt mot nua so but con lgi. Cuoi cung, cua
hang chz con 20 chiec but chi. Hoi lic dau cira hang ¢6 bao nhiéu chiéc but?

A. 40 B. 60 C. 80 D. 100

Q4.

28™ March is Thursday. Which day of the week is 23" August in the same year?
Ngay 28 thang 3 la thir Nam. Hoi ngay 23 thang 8 cung nam la thir mdy?

A. Sunday (Chu Nhat) B. Friday (Thi Sau)
C. Thursday (Thu Nam) D. Saturday (Thu Bay)
Q5.

There are a total of 28 chickens and rabbits in a farm. The animals have a total of 72
legs. How many chickens are there?

C6 tat ca 28 con vdt gom cd ga va thé trong mét ndng trai. Téng sé chan cua ching
la 72 chan. Hoi c6 bao nhiéu con ga?

A. 28 B.12 C.8 D. 20

Q6.
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Find the value of 6 + 7 + 8 + ... + 43 + 44,

Tinh giatricua6+7 + 8+ ... + 43 + 44,

A. 1950 B. 975 C. 950 D. 1900
Q7.

Find the value of 111 x 111.

Tinh gia tri cua 111 x 111.

A. 12321 B. 123321 C. 123123 D. 32123
Q8.

Find the value of 24 x 17 + 17 x 28 x 2.

Tinh gia tri cua 24 < 17 + 17 x 28 x 2.

A. 1350 B. 1630 C. 884 D. 1360
Q9.

Find the value 0f 132 + 6 + 234 + 6 + 384 + 6.
Tinhgiatriciual1l32+ 6 + 234+ 6 + 384 + 6.

A. 100 B. 125 C. 150 D. 175
Q10.

Find the value of 49 + 46 + 43 + ... + 4 + 1.

Tinhgidtricuad49 +46 +43+ ... +4 + 1.

A. 425 B. 850 C. 1225 D. 400
Q11.

If 9-digit number 20180104A is divisible by 9, find the value of A.
Biét s6 c6 9 chiz s6 20180104A chia hét cho 9, tim gia trj cuia A.
A. 4 B.5 C.2 D.0

Q12.
Find the unit digit of A if

Tim chi# s6 hang don vi cua A biét rang

A=2x2x2x,.x2x3Ix3x3x..x3x5.
20's 18's
A. 6 B.0 C. 4 D.5

Q13.
Giventhata®b =ax b + 2 x b, calculate 7®9.

Biét rang a®b = a x b + 2 x b, tinh 79.
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A. 81 B. 77 C. 126 D. 16
Q14.

The sum of positive integers A and B is 540. A is 4 times of B. Find A.
Tong cua hai s6 nguyén dwong A va B la 540. A gap 4 lan B. Tim A.
A. 108 B. 540 C. 135 D. 432
Q15.

How many 2-digit numbers are divisible by both 3 and 5?

C6 bao nhiéu sé ¢6 2 chiz sé chia hét cho cd 3 va 5?

A7 B. 16 C.6 D. 15
Q16.

How many rectangles are there in the figure below?

C0 bao nhiéu hinh chi nhdt trong hinh duoi day?

A. 20 B. 36 C. 24 D. 1422
Q17.

The area of a rectangle is 72cm?. If sides of the rectangle are integers, how many
different value(s) of perimeter of rectangle is/are there?

Diéq tich cia m¢t hinh chiz nhat 1a 72cn"!2. Biér dé dai cac canh cua hinh chi nhdt
la so nguyén, hai hinh chiz nhdt do co thé cd bao nhiéu gié tri chu vi khac nhau?

A 4 B. 6 C.5 D. 12

Q18.

The rectangle below is cut into 7 squares. If the perimeter of the rectangle is 160cm,
find the area of the larger square.

Hinh chéz nhdt duedi ddy duwoc cdt thanh 7 hinh vuéng. Biét chu vi cia hinh chéi nhdt
la 160cm, tinh dién tich cua hinh vuéng lon.
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A. 900cm? B. 1800cm? C. 3600cm? D. 1600cm?
Q19.

The perimeter of an equilateral triangle is 90cm. Now Andy cut the triangle to 4
identical equilateral triangles. What is the sum of perimeter of the small triangles?

Chu vi ciia Mgt hinh tam gide deu 1a 90cm. Andy cat hinh tam gidc nay thanh 4 tam
gidc déeu y hét nhau. Hoi tong chu vi cua cac tam giac nho nay la bao nhiéu?

A. 180cm B. 90cm C. 360cm D. 270cm

Q20.

How many right-angled triangle(s) is / are there in the figure below?

Hoi co bao nhiéu tam giac vuong trong hinh dwoi day?

AT B.8 C.10 D.9

Q21.

Amy has 4 different shirts, 3 different skirts and 2 different pairs of shoes. How
many different outfits can she mix?

Amy c0 4 Cl]iéc do khdc nhau, 3 chan vay khdc nhau va 2 doi gidy khdac nhau. Hoi
cd bé cd the phoi dwroc bao nhiéu bé do khac nhau?

A.8 B. 24 C.12 D. 36

Q22.

Use all digits 2, 3, 5 and 6 to form a 4-digit number such that the tens digit and
thousands digit are even while the units digit and hundreds digit are odd. How many
such 4-digit numbers are there?
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St dung tat ca céc chit 56 2, 3, 5 va 6 dé Igp thanh so 6 4 chit s6 sao cho chit s6
hang chuc va chit so hang nghin la so chan. Chiz so hang don vi va chit so hang
tram la so 1é. Hoi ¢0 thé ldp droc bao nhiéu so c6 4 chir so nhu vay?

A.8 B.2 C. 4 D.6

Q23.

Andy has 13 $1 and $2 coins altogether. He has $20 in total. How many $1 coins
does he have?

Andy c6 13 xu gom xu 1 dé va xu 2 dé. Anh dy c0 tat ca 20 dé. Héi anh dy c6 bao
nhiéu xu 1 do?

A.9 B.8 C.7 D.6

Q24.

How many 2-digit numbers without digit “4” are there?

Haéi ¢6 bao nhiéu sé co 2 chir sé khdng chira chi sé 47?

A. 72 B. 81 C.71 D. 70

Q25.

If Andy goes from point A to point B, each step can only move up or move right
along the line. How many way(s) is / are there?

Néu Andy di tir A dén B va méi ldan di chi ¢6 thé di chuyén Ién trén hogc sang phdi
doc theo dwong ké. Hoi c6 bao nhiéu cach di nhu vay?

B

A. 8 B.6 C.10 D. 12

10
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PE SO 3:
Q1. Alice has 5 marks and Peter has 6 marks in Mathematics exam. If the average
mark of Alice, Peter and Mary is 58, what is Mary’s exam marks?

Trong bai Kiém tra toan, Alice dwoc 51 diém con Peter dwoc 61 diém. S6 diém trung
binh cua cac ban Alice, Peter va Mary la 58. Hoi Mary duwoc bao nhiéu diem?

A. 55 B. 62 C. 56 D. 60

Q2. The sum of Alice’s and Peter’s ages is 47. If the age of Alice 2 years ago was
the half of the age of Peter 6 years later, how old is Alice now?

Tong so tudi cua Alice va Peter 1a 47. Biét tudi ciia Alice 2 nam triéc bang mét nira
tuoi cua Peter 6 nam nira. Hoi bay gio Alice bao nhiéu tuoi?
A. 19 B. 20 C.18 D. 17

Q3. A book store had a box of books. One half of the box were sold on the first day.
Two thirds of the remaining part were sold on the second day. Finally, 8 books are
left. How many books were in the box originally?

Mot hiéu sach CQ mot thung sach. Mét nia thung dwoc ban trong ngay dau tién. H@i
phan ba cua phan con lai dwgc ban trong ngay ther hai. Cuoi cung chi con 8 quyen
sach. Hoi lic dau trong thung c6 bao nhiéu quyén sach?

A. 36 B. 24 C.48 D. 32

Q4. 5" May is Friday. Which day of the week is st April in the same year?

Ngay 15 thang 5 la the Sau. Héi ngay I thing 4 cing nam la thir may?

A. Wednesday (The Tu) B. Sunday (Chz Nhqt)

C. Monday (Thz Hai) D. Tuesday (Th: Ba)

Q5. There are a total of 36 chickens and rabbits in a farm. The animals have a total
of 80 legs. How many chicken(s) is / are there?

C6 tat ca 36 con vdt bao gom cd ga va thé trong mét ndng trai. Ching c6 tdt ca 80
chan. Hoitrong do cé bao nhiéu con ga?

A. 16 B. 20 C.4 D. 32

Q6. Find the value 0of 33+ 34 +35+ 36 +... + 66 + 67.
Tinhgidtricia33+34+35+36+... +66 + 67.

A. 1700 B. 3400 C. 3500 D. 1750
Q7. Find the value of 111 x 11 x 101.

Tinh gia trj cua 111 x 11 x 101.

A. 123321 B. 12321 C. 123123 D. 1234321
Q8. Find the value of 17 x 62 + 19 x 34.

Tinh gid tri cua 17 x 62 + 19 x 34,

11
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A. 1500 B. 1700 C. 1377 D. 1733
Q9. Find the value of 1000 + 2 + 1000 + 10 + 1000 + 100.

Tinh gia trj cua 1000 + 2 + 1000 + 10 + 1000 =+ 100.

A. 8 B. 600 C. 610 D.9
Q10. Find the valueof2+4+6+8+ 10 + ... + 28 + 30.
Tinhgiatricua2+4+6+8+ 10 + ... + 28 + 30.

A. 224 B. 120 C. 240 D. 480

Q11. If a 9-digit number 20190513A is divisible by 2, find the value of A.

Néu sé ¢6 9 chiz s6 20190513A chia hét cho 12, tinh gia tri cia A.
A.8 B.6 C. 4 D.2
Q12. Find the unit digit of A given that:

Tim ché sé tdn cung cua A biét rang:

A=2x2x.,.x2x3x3x..x3.
50's 50's

A.6 B.8 C.4 D.9
Q13. Given that a®b = (b —a) x (a + 2), calculate 10®15.
Biét rang a®b = (b —a) x (a + 2), tinh 10815 .
A. 150 B. 50 C.85 D. 60
Q14. The sum of A and B is 936. A is 8 times of B. Find B.
Biét tong cua A va B 14 936. A gdp 8 lan B. Tim B.
A. 117 B. 104 C.114 D. 107
15. How many 2-digit number(s) either divisible by 5 or divisible by 2 is / are there?
Hai c6 bao nhiéu sé ¢ 2 chir sé chia hét cho 5 hogc 2?2
A. 54 B. 63 C.9 D. 72
Q16. How many rectangles are there in the figure below?
Hoi co bao nhiéu hinh chiz nhdt trong hinh dwéi ddy?

12
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A. 15 B. 20 C.25 D. 26

Q17. The perimeter of a rectangle is 36. If sides of the rectangle are integers, find
the minimum value of the area of the rectangle.

Biét chu vi cua mgt hinh chiz nhdt 1a 36. Néu cac canh ciia hinh chiz nhat 1a cac so
nguyén, tim dién tich nho nhat co thé cua hinh chir nhdat do.

A. 324 B. 35 C.17 D. 81

Q18. The square below is cut into 5 squares and rectangle. If the perimeter of the
original square is 20cm, find the area of the rectangle.

Hinh vudng dudi ddy duwoc cat thanh 5 hinh vudng va 1 hinh chi nhat. Néu chu vi
Cua hinh vuéng ban dau la 120cm, tinh dién tich cua hinh chiz nhat.

A. 720cm? B. 108cm? C. 540cm? D. 900cm?

Q19. The perimeter of a square is 40cm. Now Alice combines 36 such squares to a
big square. What is the perimeter of the big square?

Chu vi cia mgt hinh vuéng la 40cm. Alice ghép 36 hinh vuéng nhu vy thanh mgt
hinh vubng Ién. Tinh chu vi cua hinh vuéng lon?

A. 120cm B. 320cm C. 1440cm D. 240cm

13
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Q20. How many right-angled triangles are there in the figure below?
Hoi co bao nhiéu tam giac vuéng trong hinh dwoi day?

A.8 B. 12 C. 16 D. 20

Q21. A flight of stairs has 5 steps. Mary can go up for step or 2 steps each time. How
many ways are there for Mary to go up the stairs?

Mgt cau thang c6 5 bac. Moi lan budc, Mary cd thé budc 1én 1 bac hoac 2 béc. Hoi
Mary c6 bao nhiéu cach dé di hét cau thang?

A.5 B. 6 C.7 D.8

Q22. 66 students are either wearing XL, L, M, S or XS size uniforms. Then number
of students wearing M size is the greatest among all sizes. At least how many
student(s) is / are wearing the M size?

66 hoc sinh dang mac mét trong cac c& dong phuc XL, L, M, S hogc XS. Sé hoc sinh
mac co M la nhiéu nhat so vdi cac co khac. Hoi ¢o thé cé it nhat bao nhiéu ban mac
co M?

A. 13 B. 14 C.15 D. 12

Q23. Alice has 40 coins, including $ and $2 coins. She has $58 in total. How many
$ coins does she have?

Alice ¢6 40 dong xu, gom xu 1 d6 va xu 2 do. C6 dy c6 tat ca 58 do. Hoi €0 dy co
bao nhiéu dong xu 1 do?

A. 22 B. 18 C. 36 D.4

Q24. How many 3-digit numbers are there such that the number does not contain
digit “0” or “ ?

Haéi c6 bao nhiéu sé ¢ 3 chir sé ma khdng chira chiz sé 0 hodc 1?

A. 512 B. 336 C. 343 D. 500

Q25. Andy goes from point A to point B. Each step he can only move up or move
right. How many ways are there?

14
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Andy di tir A dén B va chi dwoc di lén trén hodc di sang phdi. Héi ¢6 bao nhiéu cach
di nhw vay?

B
A
A.6 B.8 C.10 D. 12
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